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. Use Laplace transforms to solve the initial value problem
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1. Solve the given equation Y' —3y'+2y=¢€", y(0)=0, y(@)=1. (12%)
. Find the Fourier series of the following periodic function
2
X* 0<x<l1
f(x)= _ 18%
1<x<4 (18%)
-2 2 -3
. Solve the eigenvalues and eigenvectors of the matrix A=| 2 1 —-6/|. (20%)
-1 -2 0
he value of the foll lex | N razdl g,
. o 0
. Compute the value of the following complex line integra 244 7° _gz2 457 (16%)
ou o . "y
. Solve the heat equation ri =pf— o ; 0<x<1, t>0 subject to the conditions:
X
u(0,t)=0, u(,t)=0, and u(x,0)=2sin(zx)+sin(4zx) . Here [ isa constant. (16%)

y'+y=4H({t-7x), y(0)=2, y'(0)=4.Here H(t) isthe Heaviside function, which takes

the value 1 for t>0 and 0 for t<O.

(18%)




